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(—) Kreme Company’s income statement contained the condensed
information below:
Kreme Company

Income Statement
For the Year Ended December 31,2004

Revenues $970,000
Operating expenses, excluding depreciation  $624,000
Depreciation expense 60,000
Loss 6n sale of equipment 16,000 _700,000
Income before income taxes 270,000 -
Income tax expense 40,000
Net income $230,000
Kreme Company’s balance sheet contained these comparative data at
December 31.
2004 2003
Accounts receivable $65,000 $60,000
Accounts payable 41,000 33,000

Income taxes payable 11,000 - 7,000
Accounts payable pertain to operating expenses.

Instructions  (20% )

Prepare the operating activities section of the statement of cash
flows using the indirect method.
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(w3 ) List below are the income statément accounts from the

Dec.31,2004, unadjusted and adjusted trial balances of AA ,
Conipany. Review the trial balances and prepare the adjustmg

entries that were made on Dec.31,2004. (18% ) - .-

Dec.31, 2004
Unadjusted Adjusted
Trial Balance Trial Balance

Service Fees Earned ‘ $65,000 $65,000
Advertisisng Fees Earned 14,700 16,300
Salary Expense 7,300 - 8,100
Office Supplies Expense - 2,070
Insurance Expense -—-- 410
Interest Expense 600 660
Depreciation Expense e 2,400

(S m g R




ﬁmxéﬂé 04 B4 #é’%i%ﬂi%
TR2608 HE=f (23 A#£3R)
B EHE KA (RALSEAEL)

* ST 48 A st B

(%) Multiple Choice:  (24% )

1. On Dec.31, 2004, Vance Co.’s Allowance for Uncollectible Accounts has a
debit balance of $4,000. The aging of receivables schedule for 2004 states
that $7,500 of accounts are expected to be uncollectible. Vance’s )
uncollectible accounts expense for 2004 is:

a. $11,500 c. $4,000
b. $7,500  d.$3,500

2. Which of following statements about small stock dividends is true?

a. A debit to Retained Earnings for the par value of the shares issued
should be made.

b. A stock dividend decreases total stockholders’ equity.

c. Market value per share should be assigned to the dividend shares.

d. A stock dividend ordinarily will have no effect on book value per share
of stock.

3. Which of the followirig transactions requires two entries when the perpetual
inventory method is used?

a. Purchase of merchandise from supplier
b. Return of merchandis¢ to supplier
c. Payment of freight on merchanse purchased
d. Saléof merchandise to customer
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